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PHILOSOPHY (General)

Paper Code : II - A & B
[New Syllabus]

(Supplementary)

Subject Code :

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

111

A

&

B

in the Answer Script.

Example — If alternative A of 1 is correct, then write :

1. — A

® There is no negative marking for wrong answer.
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Paper Code : II - A
Full Marks : 50 Time
Choose the correct answer.
Each question carries 1 marks.
1. Valid knowledge is called —

(A) Pramana

(B) Prama

(C) Aprama

(D) Prameya

> | TN @I o 2] —
(A) =
(B) &=t
(C) e
(D) e

2. Who is the founder of Samkhya Philosophy —
(A) Sankara
(B) Kapil
(C) Kanad
(D) Mahavira

3| AR W afewrel &2
(A) *F
(B) &
(C) =
(D) RIS
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3. Satva,Raja and Tama are attributed to —
(A) Purusa
(B) Prakiti
(C) Brahma
(D) God
©| g, Fee ¢ wwz [ dfe S 22
(A) 7
(B) eFfs
(C) =
(D) ¥4

4. How many Padarthas are accepted by Vaisesika?
(A) 2 (two)

(B) 3 (three)
(C) 6 (six)

(D) 7 (seven)
8 | CACHITRRE Wi WA Amiel I a1 22
(A) 7=
(B) fo
© =
(D) =
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5. According to Nyaya “Ice looks cold” is an example of —
(A) Samanyalaksana Pratyaksa
(B) Yogajalaksana Pratyaksa
(C) Paramarsa

(D) Jnanalaksana Pratyaksa

¢ | TEE ACS el — FiF o A (@I AT Suizdd —
(A) N =T 2o
(B) (9rer e oo
(C) Haref
(D) @I T oy
6. Samkhya Satkaryavada is known as —
(A) Prakriti-Parinamvada
(B) Vivartavada
(C) Arambhavada
(D) Brahma-Parinamvada
Y| ARy AP G [ Ao
(A) Zfe-=ifarram
(B) Ragam
(C) SiEam
(D) g Al A
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7. Samkhya believes in —
(A) Theism
(B) Atheism
(C) Polytheism
(D) Monotheism

9| ARY W (T T R —
(A) =M
(B) frrsrerram
(C) T2 ™M
(D) GTF=FIM

8. How many qualities are accepted by Kanad —
(A) Eight
(B) Twelve
(C) Seven
(D) Twenty four

v | oM A0 @ FAF IR ?
(A) =I5
(B) ==t
(C) 7®
(D) bfR™
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9. How many systems are there in Indian Philosophy?

(A) Three

(B) Six
(C) Seven

(D) Nine
5| SRR WHq M WM Ko ?
(A) fom
(B) =
(C) e
(D) =

10. According to Samkhya, what is the nature of ‘Raja Guna’?
(A) Pleasure

(B) Inactivity
(C) Activity
(D) Ananda
So | AR Ao TSR Fok 2
(A) 74
(B) ferfgeret
(C) ferat
(D) s
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11. Which is not included in Alaukika perception?
(A) Samanyalaksana
(B) Jnanalaksana
(C) Yagaja
(D) Doubt

33 | FID ERT AOITHT TEOG 7 ?
(A) A 5Tl
(B) @I T
(C) @isie
(D) I=1w

12. Nyaya Philosophy is —
(A) Astika
(B) Nastika
(C) Idealist
(D) Materialist

S| T Il ZoT —
(A) wifE
(B) mf&<
(C) o=t
(D) <&
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13. According to the Samkhya, Prakriti is named as —
(A) Substance

(B) God
(C) Pradhana

(D) Water

59| AR O AFNoF T G 715 —
(A) &
(B) e
(C) ==
(D) &=

14. ‘Sannikarsa’are of __ kinds.
(A) Five
(B) Six
(C) Seven
(D) Eight
S8 AT 7T oI
(A) A5
(B) =
(C) e
(D) =IlG
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15. According to Vaisesika, action is of — kinds.
(A) Three
(B) Four
(C) Five
(D) Six

el AERT e/ o —
(A) fos
(B) o
(C)
(D) =

16. Purusa is regarded as —
(A) Consciousness
(B) Unconscious
(C) Sub-conscious

(D) Pure-Consciousness

SY | ST T —
(A) (5o
(B) S1toes
(C) SRTES
(D) Rw=m (G
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17. Samavaya relation means —
(A) Samyoga
(B) Inseparable eternal relation
(C) Causal relation

(D) Identical relation

S| TR H>IF = —
(A) e
(B) S<Cozm =Iee i
(C) TR 7%
(D) oIy i
18. Who established the idea of ‘Existential Import’?
(A) L. M. Copi
(B) George Boole
(C) John Venn
(D) J. S. Mill

b | SRFGETE SIATE el (& 2lfewT I 2
(A) =13, @5, Ffol
(B) T I
(C) T (ex
(D) . @, fire
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19. Which of the following form is tautology?
(A) p~p
B) ~pp
©) pv~p
D) p=q
>o | RS (@Iq IR FosTe) ?
(A) p~p
B) ~pp
©) pv~p
D) r=¢q
20. What do you mean by the subject term of the conclusion —
(A) Minor term
(B) Major term
(C) Middle term
(D) Copula

20| PI&ItER Swi7M /CS (i M @RI 2
(A) oI 21
(B) Ny 2
(©) Ry M
(D) RTe<
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21. Every proposition is either true or false this duality of proposition is called.
(A) Variable
(B) Constant
(C) Truth function
(D) Truth value

25| I AR TG ST AT A — I G 43 0T —
(A) @z
(B) &<
(C) AToCAFF
(D) TR
22. ‘Some S is not P> — this proposition is —
(A) Universal affirmative
(B) Universal negative

(C) Particular negative
(D) Particular affirmative

33| ‘GFIF @FIN S TF P’ —9% I5A0 T —
(A) AT ML
(B) WF Fepds
(C) RoeT Fepd
(D) Re*a "Ml
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23. In logic the term valid is only applicable to —
(A) Deductive argument
(B) Inductive argument
(C) Analogical argument
(D) None of the above

Q0| OF M K *0 (FIENG (I (G AT —
(A) IRCR el
(B) I ST
(C) ST S
(D) Ttz (FICAIDE =
24. ‘BARBARA’ belongs to —
(A) First Figure
(B) Second Figure
(C) Third Figure
(D) Fourth Figure
38| ‘BARBARA’ (Il A ST@9(© ?
(A) A FZ[T
(B) fast g
(C) TOr FEI
(D) 59 LB
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25. If ‘A’ proposition is contraposed, we get —
(A) ‘A’ proposition
(B) ‘E’ proposition
(C) ‘I’ proposition
(D) ‘O’ proposition

3| ‘A’ IER RIS F0E SEl AR —
(A) ‘A’ A
(B) ‘E’ 3o
(C) I’ <o
(D) ‘O’
26. A proposition expressed in language is called —
(A) Argument
(B) Inference
(C) Attribute
(D) Judgement
Q| S A THACF T —
A) If&
(B) STl
(C)
(D) =49
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27. Each part of a truth functional proposition is called —
(A) Condition
(B) Component
(C) Conclusion

(D) Content

24 | AGICAF I Afob ST AT —
(A) *r$
(B) Tsimia
(C) Prarg
(D) 1 =

28. The figure of a syllogism is determined by the position of the —
(A) major term
(B) minor term

(C) middle term
(D) copula

3y | (@ AR SR B G0 IR AR ST 7w —
(A) oM
(B) =5 =
(©) xg "M
(D) IcAE<w
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29. ‘DIMARIS’ is a valid mood in —
(A) First Figure
(B) Second Figure
(C) Third Figure
(D) Fourth Figure

35| ‘DIMARIS’ (I ACENR (34 (6 2
(A) g FZ
(B) faerx gl
(C) PO FEI
(D) 5L FE
30. The validity of deductive argument is determined by —
(A) its content
(B) its form
(C) both of its form and content
(D) the truth of its conclusion

0o | TRER e taxel e =xe
(A) IGT CAMITTR A

(B) &7 W 7l
(C) ST @ ToAMIe T Al

(D) PraitEs sTorel [l
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31. Human and non-human these two terms are —
(A) Complementary to each other
(B) Contrary to each other
(C) Not in any relation at all

(D) identical terms

©3 | T @ -G —dB 9% 7o —
(A) =7 7l
(B) f#idte »m
(C) T & (I T4 (13
(D) SMISy FFJe

32. What does ‘pv-p’ refers?
(A) Contradiction

(B) Contrary
(C) Sub-contrary

(D) Tautology

o3| pyv-p’ 63 @IFOE W 2
(A) Reafaer
(B) (=Irey
(C) WHS (35T
(D) oAy
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33. Two —____ premises yield no valid conclusion.
(A) Universal
(B) Particular
(C) Affirmative
(D) Categorical

00| B6 __ SIEFARy (i Paiees Wepe v
(A) I
(B) e
(C) ML=
(D) fawsr®

34. Of two sub-contraries if one is true the other is —
(A) True

(B) False
(C) Doubtful

(D) Neither true nor false

08 | SHw-Rodre [afre cweg 3 Iow 7 sy =7 orre o= 2@ —
(A) %)
(B) fray
(C) =P
(D) Toye =3, Wae w7
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35. Which of the following is not a character of social group?
(A) Sense of unity
(B) We-feeling
(C) Common interest

(D) Common territory

oe | fsfafie @ Ao s @fEr aae
(A) aFQY
(B) SIsE-(AnE
(C) ez =i
(D) e gee
36. According to  society is a web of social relations.
(A) Cooley
(B) Maclver
(C) Parsons
(D) Leacock

WY | “ANG Z6T AMIEF AIEFT SEARET —(F 002 ?

(A) Ffer

(B) TSR
(C) BT

(D) fore
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37. The classification of group into primary and secondary has been done by —
(A) Cooly
(B) Tonnies
(C) Summer

(D) Maclver

04 | ARG (MDICE enfie @ (el @3 yBoital Sl AT —
(A) 3
(B) Bf1
(C) =g
(D) T S2w

38. Who has classified groups into in group and out group —
(A) Cooley
(B) Kingsley Davis

(C) Summer

(D) Simmel

ob | SFANBT @ IRTABI—a2 e & Feare?
() T
(B) FAfer cefent
(C) A=
(D) FCet
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39. Who has coined the term ‘Quasi group’?
(A) Maclver
(B) Ginsberg
(C) Sorokin
(D) Ogburn
©> | SAS (AlBT (PRIFT 269 *=foq TuRe (F 03w 2
(A) T SFOR

(C) @Al
(D) s/l

40. Specific guideline of behaviour in society is termed as —
(A) Custom
(B) Norm
(C) Law
(D) Tradition
go | Fres e Sbeefiacs et —
(A) =
(B) ferr
(ORUIES]
(D) A
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41. Who presented the idea ‘cultural lag’?
(A) Ogburn
(B) Maclver
(C) Malinowski
(D) Risley
8% | ‘Cultural lag’ @1Rellb (& ToIBI7 FCARCE 2
(A) @R
(B) WIF AZ©IF
(C) WifeT=ISi%
(D) femicat

42. Liberty and equality are —
(A) Complementary
(B) Contradictory
(C) Neither complementary nor contradictory

(D) None of the above

83| FHTO! @ ANy T&T —

(A) s

(B) R=idre

(C) ~fszpe 77, Reidroe =
D) @R
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43. Institution is comparatively  than association.
(A) temporary
(B) permanent
(C) artificial
(D) transitory

89| 2SI GERIEFOI T ST —
(A) =ergd
(B) =
(C) Fham
(D) FweleT FH

44. A mode of reward or punishment that reinforces socially expected forms of
behaviour is —

(A) education
(B) sanction
(C) law

(D) culture

88 | NG FFO SBA I LT PG TN G (@ AFHT A AE LMt
i @bfere @it ©Its A —

(A) el
(B) frga
(C) =Nzd
(D) KF
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45. Democracy must be based on —
(A) one party system
(B) free and fair election
(C) choice from only ruling party
(D) all of the above

8¢ | S0y SR*IE ______ Teig efee 3w —
(A) G G
(B) SHIY ¢ 7 f<fion
(C) (WG *ASF e 21"
(D) T TR0

46. Which of the following is not a secondary group?

(A) Political party
(B) Corporation
(C) Neighbourhood
(D) Labour union

su| fasfeiiis @ (M (odioe w2
(A) FGCTeP el
(B) cTafwals
(C) Ty
(D) =S BTfeRw
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47. The word ‘Democracy’ comes from the word —
(A) Democracia
(B) Demokratia
(C) Demos
(D) Kratoa

89| N6 (F(0 (ATF “olofoF =M MR ?
(A) CSTICEHRT
(B) (ST
(C) o
(D) =t
48. Who thinks that ‘Sarbodaya’ is the goal of changing the society?
(A) Binoba Vabe
(B) Swami Vivekananda
(C) Mahatma Gandhi
(D) Sri Aurobindo

8br | MANCER 2IRIGTAITOR 7% I AV S I ?
(A) Rt i
(B) =N Reslern
(QREEIIR E
(D) &I el
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49. What is the literal meaning of ‘liberty’?
(A) Absence of restraint
(B) Restraint
(C) Freedom with certain limitations
(D) Positive Freedom

85 | FHTOR Srwe W 52
(A) IR SSR
(B) T
(C) Rfem =&l
(D) MLF Kol

50. Liberty, equality and fraternity are —
(A) Ground of democracy
(B) Ground of socialism
(C) Ground of administration
(D) Necessary cause of society

o | FiFTel, A 8 FTarey 2o —
(A) olTerEs fofe
(B) “miereocEs fefe
(C) =PI fefe
(D) FIce SfeRl et
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P-1I (1+1+1) G/ 20 (N)SUP
2020

PHILOSOPHY (General)

Paper Code : II - B
[New Syllabus]

(Supplementary)
Full Marks : 100 Time : Three Hours
The figures in the margin indicate full marks.
Section - I
Answer any three questions taking one from each group. 15%3=45
Group -A

1. (a) Distinguish between nirvikalpaka and savikalpaka pratyaksa. What is the
evidence of admitting the nirvikalpaka pratyaksa? 10+5

(b) Explain the nature of vaisesika category of samavaya. How does

!
Samkara criticise it? 10+5

(c) Explain the nature of prakriti. What are the proofs for the existence of

prakriti according to samkhya? 5+10
Group-B
2. (a) What are the different criteria for appraisal of analogical argument? Discuss.
15
(b) Test the validity of the following arguments by means of Venn diagram :
5%3
(1 AIl-3
@) EAO -3

(1)) Some children are not considerate since all children are egoists and no
egoist is considerate.
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(c) Determine the validity or invalidity of the following arguments or argument
form by truth table : 5x3=15

) Uo (Vv W)
(V.W) >~U/..~U
@ (pva)=(rq)
(pvq)/ (p.q)
(iiy P2 (g>7)
ql..rop
Group-C
3. (a) What is group? Explain and illustrate different types of groups. 3+12

(b) State and explain the main features of caste system. 15

(c) What is Democracy? What are the characteristic of democratic ideals?
3+12

Section - I1

Answer any eleven questions taking not more than four from each group.
5x11=55

Group-A
4. (a) Give the definition of anumana following Nyaya system.
(b) Explain the relation between purusaand prakriti in Samkhya philosophy.
(c) Explain the different form of Abhava.
(d) Write a note on Samanya-Laksana pratyaksa.
(e) What is five membered syllogism? Explain with example.

(f) Discuss Samkhya ‘parinamvada’.
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(g) How does the Samkhya refute asatkaryavada?

(h) Give a brief account of karma as a padhartha according to vaisesika.
Group-B
5. (a) Distinguish between mediate and immediate inference with example.
(b) Explain different stages of enthymeme.

(c) What is truth function? Distinguish between truth functional proposition and
truth functional argument.

(d) What is existential import? Give an examples.
(e) What is material implication? Explain with example.
(f) What are the two senses of ‘or’?
(g) What is hypothetical syllogism? Explain.
(h) Write a note on scientific induction.
Group-C
6. (a) What is the nature of social philosophy?
(b) Write a note on religious code.
(c) What is social institution?
(d) What is meant by human right?
(e) “Society is the web of social relationship”— Explain briefly.
(f) What are the defects of socialism?
(g) Explain the relation between liberty and law.

(h) How does community differ from association?
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@ (pvq)>(paq)
(pvaq)l . (pgq)

Giy »=(@>r)

gl rop
faermt - o
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